
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Resources are not only scarce , but they can also be put to various uses. It makes choice among 

resources more important. For ex:- milk can be used by any household either directly for 

cionsumption or cheese or ghee can be made out of its. Therefore, choice is required to be made 

among such options. 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



CENTRAL PROBLEMS OF AN ECONOMY:-

In the course of economic activities, every society has to face scarcity of 
resources. Because of this, every society has to decide how to allocate these 
scarce resources. It leads to following Central Problems which are as follows:-

1. What to produce?
2. How to produce?
3. For whom to produce?

1. What to produce:- This problem involves selection of goods and services to be 
produced and the quantity to be produced of each selected commodity.

    What commodities to be produced:- an economy has to decide, which consumer 
goods( milk, rice, wheat, etc) and which of the capital goods(machinery, 
equipment,etc) are to be produced.
In the same way economy has to decide between civil goods( bread, rice, butter, 
etc.) and war goods( weapons, tanks,etc.)

2. How to produce:- This problem refers to selection of technique  to be used for 
production of goods and services. Goods can be produced by labour intensive 
techniques or by capital intensive techniques.

  Labour intensive techniques:- where more labour and less capital is used.
  
  Capital intensive techniques:- where more capital(machine) and less labour is 
used.

3. For whom to produce:-This problem relates to the distribution of produced goods 
and services among the individuals within the economy., i.e selection of category of 
people who will become ultimate consumer of the goods produced like, whether to 
produce for riches or poors.

   



Opportunity Cost:- It is the cost of next best alternative forgone. For ex:- 
suppose you are working in a bank at the salary of Rs. 50000 p.m. now further 
you received two more job offers:
  1. Work as an executive at rs. 30,000 p.m
   2. Work as an accountant at rs. 25,0000 p.m

Now, in this case the opportunity cost of working in a bank is the cost of next 
best alternative foregone i.e rs. 30,000 as an executive.

PRODUCTION POSSIBILITY FRONTIER

PPF refers to graphical representation of possible combinations of two goods 
that can be produced with given resources and technology.

4.Synonyms of PPF:-

1. Production possibility curve (PPC)
2. Transformation Boundary
3. Transformation curve
4. Transformation frontier
5. Production possibility boundary

Assumptions of PPF:-

1. The amount of resources in an economy is FIXED, but these can be 
TRANSFERRED from one use to another.
2. With the help of these resources, only TWO goods can be produced.
3. The resources are fully and efficiently utilised. 
4. The level of technology is assumes to be constant.
5. Resources are not equally efficient in production of all products. So, when 
resources are transferred from production of one good to another, the productivity 
decreases.



MOC( MARGINAL OPPORTUNITY COST) :- It refers to number of units of a 
commodity sacrificed to gain one additional unit of another commodity.
    In case of PPF, MOC will always be increasing., i.e more and more units of a 
commodity has to be sacrificed to gain an additional unit of another 
commodity.

MRT( MARGINAL RATE OF TRANSFORMATION):- It is the ratio of number of units 
sacrificed to gain an additional unit of another commodity.
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CHARACTERISTICS OR PROPERTIES OF PPF:-

1.  PPF SLOPE DOWNWARDS:- PPF shows all the maximum possible 
combination of two goods, which can be produced with the available resources 
and technology. In such a case, more of one goods can be produced only by 
taking away from the production of another good. As there exits an inverse 
relationship between change in quantity of one commodity and change in 
quantity  of another commodity, PPF slope downwards from left to right.

2. PPF IS CONCAVE SHAPED:-  PPF  is concave shaped because of increasing 
MRT, i.e more and more units of one commodity are sacrificed to gain an 
additional unit of another commodity.

Ques.    Why MRT increases?

Ans:- It increases because it is assumed that no resources is equally efficient 
in production of all goods. As resources are transferred from one good to 
another, less and less efficient resources have to be employed. This raises 
cost and raises MRT.
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Whether Economy will always operate on PPF? 

It must be noted that PPF doesn’t show the point at which the economy will 
actually operate. It only shows the maximum available possibilities, which an 
economy can produce.

The exact point of operation depends on how well the resources are used:-

1. Economy will operate on PPF only when resources are fully and efficiently 
utilised.

2. Economy will operate at any point inside PPF if resources are not fully and 
efficiently utilised.

3. Economy cannot operate at any point outside PPF as it is unattainable with 
the available resources.

# ATTAINABLE AND UNATTAINABLE COMBINATION:-

Attainable combination:- It refers to those 
combinations at which economy can operate. There 
are two attainable options:-

  A) Optimum utilisation of resources:- if resources 
are used in the best possible manner, then economy 
will operate at any point (LIKE A,B,C,D) on PPF.

  B) Inefficient utilisation of resources:- if resources 
are not utilised in the best possible manner or we can 
say that if resources are wasted or inefficiently utilised, 
the economy will operate on any point inside 
PPF(LIKE, E)

UNATTAINABLE COMBINATIONS:-  With the given resources, it is impossible for 
an economy to produce any combination more than the given possible 
combinations, i.e an economy can never operate at any point outside PPF. Like 
point F.

-

⑦
-

0
-
-

E- 0
- - - --

-
- -

-
E

M

- - - - -
⑧ F

- * D
-

- - -- -
- >

-

- -

-
- -

- - - -

- - - -
-O -

-



Ques.   Can PPF be a straight line?

Ans:-   PPF can be a straight line only if we assume that MRT is constant, i.e 
same amount of a commodity is sacrificed to gain an additional unit of another 
commodity. This is possible only when we assume that all the resources are 
equally efficient in production.

Ques.  Can PPF be convex to the origin?

Ans:-   PPF can be convex to the origin only if we assume that MRT is 
decreasing, i.e less and less units of a commodity are sacrificed to gain an 
additional unit of another commodity.
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Change in PPF

PPF is based on the assumption that resources of an economy are FIXED. However, 
in this changing environment, the productive capacity of an economy, is constantly 
changing due to increase or decrease in resources. Such changes in resources lead 
to Change in PPF. 

When there is “Advancement of technology”
And/Or Growth of resources, in respect of 
BOTH the goods, then PPF will shift towards 
Right.

inPof
↓

V

Rotation in
shift in PPF PPF
↓ ↓

PPf will shift when there PPf will shift when there
is change in productive is change in productive

capicity /resources or technology) capicity /resources or technology)

with respect to bottgoods . with respect to only onegood .

-

Stiffn PPF : -

y-aus
-a) Right shiftif :- N Rightward

↳ shift.

W->
Gu

I

"
'
7

C n-ans
Bull-er



When there is “Degradation of technology And/
Or Decrease in resources in respects of BOTH 
the goods, then PPF will shift towards Left.

When there is upgradation in technology or 
increase in resources for production of 
commodity on X-axis only then PPF will 
rotate towards right.

When there is downgrade in technology or 
Decrease in resources for production of 
commodity on X-axis only then PPF will 
rotate towards left.

When there is upgradation in technology or 
increase in resources for production of 
commodity on Y-axis only then PPF will 
rotate towards right.

When there is downgrade in technology or 
Decrease in resources for production of 
commodity on Y-axis only then PPF will 
rotate towards left.
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